
cf=j= 

@)&*÷)&(

cf=j= 

@)&(÷)*)

cf=j= 

@)*)÷)*!

1 8f]h/÷OS;fe]6/ -OGwg afx]s_ k|lt 306f 2600 2990 3400

2 Aofsxf] nf]8/ nflu -OGwg afx]s_ k|lt 306f 1760 1940 2150

3 9'Ëf jf jf]N8/ -vf]nfsf]_ 3g ld6/ 2200 2200 2200

4 9'Ëf jf jf]N8/ -cGo vfgL If]q_ 3g ld6/ 2700 2700 2700

5 jfn'jf -?d vf]nf / s§L vf]nf_ 3g ld6/ 2700 2700 2800

6 jfn'jf -s§L vf]nf–nf]xf]/] If]q_ 3g ld6/ 3400 3500 3500

7 vf]nfsf] k|fs[lts u|fe]n 3g ld6/ 1650

8 sf7 -;fnsf]_ 3g ld6/ 180000 180000 180000

9
lr/]sf] -hfd'g,/ofh, 

w'kL,b]jf/,;Nnf,cf]v/ ,;fh, 6'gL, 

dnflu/L_ s8f sf7

3g ld6/ 40000 44000 44000

10 lr/]sf] -;Nnf_ s8f sf7 3g ld6/ 35000 38000 38000

11

११.१ b}n]v ahf/ b]vL j]:t8f -;lhnf] 

;fdfg_

k|lt s]=hL= 

k|lt ls=dL=
1.5 2 2

११.२ b}n]v ahf/ b]vL j]:t8f -c;lhnf] 

;fdfg_

k|lt s]=hL= 

k|lt ls=dL=
1.60 2.1 2.2

११.३ j]:t8f b]vL j8f -;lhnf] ;fdfg_
k|lt s]=hL= 

k|lt ls=dL=
0.45 0.65 0.65

११.४ j]:t8f b]vL j8fx? -c;lhnf] 

;fdfg_

k|lt s]=hL= 

k|lt ls=dL=
0.4 0.6 0.6

12

१२.१ j]:t8f b]vL uf=kf=sf]] j8fx?
k|lt s]=hL= 

k|lt ls=dL=
2.2 3 3.5

13

१३.१ af]n]/f] -l/he{_ OGwg ;lxt b}lgs l/he{ 6000 7000 7500

१३.२ af]n]/f] -l/he{_ OGwg ;lxt kSsL 

;8s
k|lt ls=dL= 200 220 250

१३.३ af]n]/f] -l/he{_ OGwg ;lxt sRrL 

;8s
k|lt ls=dL= 400 440 480

uf8L ef8f -ofq' jfxs_

eujtLdfO{ ufpFkflnsf

ufpF sfo{kflnsfsf] sfof{no

kugfy, b}n]v

cf=j= @)*)÷)*! sf] nflu lgwf{l/t :yfgLo b//]6

:yfgLo lgdf{0f ;fdu|L, pks/0f / 9'jfgLsf] b//]6

qm= ;+= ljj/0f k|lt OsfO{

9'jfgL ef8f -uf8L_ nf]8 cgnf]8 ;lxt

9'jfgL ef8f -dflg;4f/f_

Eof6 jfx]ssf] :jLs[t b//]6 ?=


